

BEDFORD 42268 X-A004(797)

| PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION: | BEDFORD 42268 X-A004(797) October 22, 2020, 2:00 Rehabilitate 90" structural plate pipe under NH 101 & Boynton St in Bedford. August 27, 2021 Hillsborough | Awarded To: Amount: Award Date: | NORTHEAST EARTH MECHANICS INC 159 BARNSTEAD ROAD PITTSFIELD, NH 03263 \$1,080,096.25 | Certified by: | PETER.E.STAMNAS Director of Project Development | |
|---|--|---------------------------------------|--|---------------|---|------|
| | Summary of | Bidders | | | | |
| Contractor | | | | | Bid Amount | Rank |
| NORTHEAST EARTH 159 BARNSTEAD F | MECHANICS INC ROAD, PITTSFIELD NH 03263 | | | | \$1,080,096.25 | A |
| C.L.H. & SON INC 2841 TURNER ROA | AD, AUBURN ME 04210 | | | | \$1,106,738.70 | В |
| BUSBY CONSTRUCTI 71 ROUTE 111, AT | | | | | \$1,189,189.00 | С |
| PIPER, R. M. INC. 141 SMITH BRIDGI | E RD, PO BOX 490, PLYMOUTH NH 03264-0490 | | | | \$1,376,950.00 | D |

Tuesday, October 27, 2020



BEDFORD

42268

| | | | | F | PS&E | 159 BARN | RTH MECHANICS INC ISTEAD ROAD LD, NH 03263 | 2841 TU | & SON INC RNER ROAD N, ME 04210 |
|----------|-------------|------|----------|------------|-------|------------|--|------------|---------------------------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |

Items

| 201.881 | INVASIVE SPECIES CONTROL TYPE I | SY | 1,800.00 | \$5.00 | \$9,000.00 | \$3.50 | \$6,300.00 | \$5.00 | \$9,000.00 |
|-----------|--|-----|----------|-------------|--------------|--------------|--------------|-------------|--------------|
| | | - | , | | | | | | |
| 202.31 | FILL ABANDONED PIPE | CY | 16.00 | \$325.00 | \$5,200.00 | \$200.00 | \$3,200.00 | \$300.00 | \$4,800.00 |
| 202.42 | REMOVAL OF EXISTING PIPE OVER 24" DIAMETER | LF | 15.00 | \$250.00 | \$3,750.00 | \$200.00 | \$3,000.00 | \$566.00 | \$8,490.00 |
| 202.7 | REMOVAL OF GUARDRAIL | LF | 150.00 | \$3.50 | \$525.00 | \$10.00 | \$1,500.00 | \$33.00 | \$4,950.00 |
| 203.11 | COMMON EXCAVATION - LRS | СҮ | 125.00 | \$35.00 | \$4,375.00 | \$17.50 | \$2,187.50 | \$8.50 | \$1,062.50 |
| 203.601 | EMBANKMENT-IN-PLACE | СҮ | 165.00 | \$16.00 | \$2,640.00 | \$8.50 | \$1,402.50 | \$8.00 | \$1,320.00 |
| 203.602 | EMBANKMENT-IN-PLACE (HAULING, HANDLING AND PLACEMENT) | CY | 730.00 | \$16.00 | \$11,680.00 | \$12.00 | \$8,760.00 | \$24.00 | \$17,520.00 |
| 206.1 | COMMON STRUCTURE EXCAVATION | СҮ | 210.00 | \$40.00 | \$8,400.00 | \$13.00 | \$2,730.00 | \$29.00 | \$6,090.00 |
| 206.19 | COMMON STRUCTURE EXCAVATION EXPLORATORY | CY | 10.00 | \$75.00 | \$750.00 | \$60.00 | \$600.00 | \$20.00 | \$200.00 |
| 209.1 | GRANULAR BACKFILL | CY | 75.00 | \$25.00 | \$1,875.00 | \$50.00 | \$3,750.00 | \$27.00 | \$2,025.00 |
| 214. | FINE GRADING | U | 1.00 | \$5,000.00 | \$5,000.00 | \$2,000.00 | \$2,000.00 | \$1,500.00 | \$1,500.00 |
| 503.101 | WATER DIVERSION STRUCTURE | U | 1.00 | \$35,000.00 | \$35,000.00 | \$200,000.00 | \$200,000.00 | \$75,000.00 | \$75,000.00 |
| 503.201 | COFFERDAMS | U | 1.00 | \$35,000.00 | \$35,000.00 | \$30,000.00 | \$30,000.00 | \$75,000.00 | \$75,000.00 |
| 508. | STRUCTURAL FILL | СҮ | 30.00 | \$75.00 | \$2,250.00 | \$55.00 | \$1,650.00 | \$30.00 | \$900.00 |
| 520.32 | GROUTING VOIDS IN BACKFILL MATERIAL | СҮ | 10.00 | \$400.00 | \$4,000.00 | \$300.00 | \$3,000.00 | \$350.00 | \$3,500.00 |
| 529.8301 | PRECAST CONCRETE SPECIAL HEADWALL | U | 1.00 | \$27,180.00 | \$27,180.00 | \$30,000.00 | \$30,000.00 | \$45,000.00 | \$45,000.00 |
| 534.3 | WATER REPELLENT (SILANE/SILOXANE) | GAL | 2.00 | \$250.00 | \$500.00 | \$150.00 | \$300.00 | \$225.00 | \$450.00 |
| 583.002 | RESET EXISTING RIPRAP | SY | 300.00 | \$45.00 | \$13,500.00 | \$10.00 | \$3,000.00 | \$18.00 | \$5,400.00 |
| 585.2 | STONE FILL, CLASS B | СҮ | 240.00 | \$75.00 | \$18,000.00 | \$36.00 | \$8,640.00 | \$88.00 | \$21,120.00 |
| 585.3401 | SIMULATED STREAMBED MATERIAL | СҮ | 10.00 | \$60.00 | \$600.00 | \$75.00 | \$750.00 | \$25.00 | \$250.00 |
| 593.411 | GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN | SY | 600.00 | \$4.00 | \$2,400.00 | \$2.50 | \$1,500.00 | \$3.50 | \$2,100.00 |
| 602.011 | FILL MATERIAL FOR ANNULAR SPACE | СҮ | 230.00 | \$300.00 | \$69,000.00 | \$225.00 | \$51,750.00 | \$285.00 | \$65,550.00 |
| 602.24590 | POLYMER COATED CORR. GALV. STEEL LINER FOR 90" PIPE | LF | 620.00 | \$950.00 | \$589,000.00 | \$552.00 | \$342,240.00 | \$535.00 | \$331,700.00 |
| 603.0001 | VIDEO INSPECTION | LF | 60.00 | \$10.00 | \$600.00 | \$20.00 | \$1,200.00 | \$15.00 | \$900.00 |



BEDFORD

42268

| | | | | | PS&E | 159 BARM | RTH MECHANICS INC NSTEAD ROAD ELD, NH 03263 | 2841 TU | & SON INC RNER ROAD N, ME 04210 |
|-----------|---|------|-----------|--------------|--------------|-------------|---|--------------|---------------------------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 603.14424 | 24" POLYMER COATED CORRUGATED STEEL PIPE, 0.109" THICK | LF | 40.00 | \$100.00 | \$4,000.00 | \$100.00 | \$4,000.00 | \$125.00 | \$5,000.00 |
| 603.34112 | 12" STEEL END SECTIONS | EA | 3.00 | \$275.00 | \$825.00 | \$85.00 | \$255.00 | \$600.00 | \$1,800.00 |
| 603.34124 | 24" STEEL END SECTIONS | EA | 1.00 | \$500.00 | \$500.00 | \$230.00 | \$230.00 | \$600.00 | \$600.00 |
| 603.44212 | 12" CORR. POLYETHYLENE PIPE FOR SLOPE DRAINAGE | LF | 20.00 | \$100.00 | \$2,000.00 | \$60.00 | \$1,200.00 | \$72.00 | \$1,440.00 |
| 606.18001 | 31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST) | LF | 150.00 | \$34.00 | \$5,100.00 | \$55.00 | \$8,250.00 | \$50.00 | \$7,500.00 |
| 618.61 | UNIFORMED OFFICERS WITH VEHICLE | \$ | 35,000.00 | \$1.00 | \$35,000.00 | \$1.00 | \$35,000.00 | \$1.00 | \$35,000.00 |
| 618.7 | FLAGGERS | HR | 400.00 | \$37.00 | \$14,800.00 | \$35.00 | \$14,000.00 | \$36.00 | \$14,400.00 |
| 619.1 | MAINTENANCE OF TRAFFIC | U | 1.00 | \$45,000.00 | \$45,000.00 | \$25,000.00 | \$25,000.00 | \$36,601.00 | \$36,601.00 |
| 619.25 | PORTABLE CHANGEABLE MESSAGE SIGN | U | 4.00 | \$2,500.00 | \$10,000.00 | \$4,000.00 | \$16,000.00 | \$2,415.00 | \$9,660.00 |
| 622.1 | STEEL WITNESS MARKERS | EA | 3.00 | \$150.00 | \$450.00 | \$50.00 | \$150.00 | \$45.00 | \$135.00 |
| 644.22 | SHRUB/FOREST WETLAND SEED MIX | LB | 5.00 | \$100.00 | \$500.00 | \$300.00 | \$1,500.00 | \$100.00 | \$500.00 |
| 645.3 | EROSION STONE | TON | 60.00 | \$50.00 | \$3,000.00 | \$25.00 | \$1,500.00 | \$27.00 | \$1,620.00 |
| 645.44 | TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY) | SY | 1,325.00 | \$4.00 | \$5,300.00 | \$2.50 | \$3,312.50 | \$3.00 | \$3,975.00 |
| 645.512 | COMPOST SOCK FOR PERIMETER BERM | LF | 800.00 | \$5.00 | \$4,000.00 | \$4.75 | \$3,800.00 | \$5.00 | \$4,000.00 |
| 645.531 | SILT FENCE | LF | 1,230.00 | \$3.50 | \$4,305.00 | \$2.50 | \$3,075.00 | \$2.00 | \$2,460.00 |
| 645.7 | STORM WATER POLLUTION PREVENTION PLAN | U | 1.00 | \$4,000.00 | \$4,000.00 | \$1,800.00 | \$1,800.00 | \$3,000.00 | \$3,000.00 |
| 645.71 | MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS | HR | 96.00 | \$100.00 | \$9,600.00 | \$70.00 | \$6,720.00 | \$100.00 | \$9,600.00 |
| 646.41 | TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS | SY | 1,675.00 | \$5.00 | \$8,375.00 | \$5.25 | \$8,793.75 | \$6.00 | \$10,050.00 |
| 670.0491 | CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD | U | 1.00 | \$17,500.00 | \$17,500.00 | \$40,000.00 | \$40,000.00 | \$35,365.20 | \$35,365.20 |
| 670.0492 | CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD | U | 1.00 | \$7,500.00 | \$7,500.00 | \$30,000.00 | \$30,000.00 | \$7,500.00 | \$7,500.00 |
| 670.0493 | CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD | U | 1.00 | \$10,000.00 | \$10,000.00 | \$35,000.00 | \$35,000.00 | \$14,650.00 | \$14,650.00 |
| 670.95 | TEMPORARY SAFETY FENCE | LF | 150.00 | \$4.00 | \$600.00 | \$3.00 | \$450.00 | \$2.50 | \$375.00 |
| 692. | MOBILIZATION | U | 1.00 | \$125,000.00 | \$125,000.00 | \$99,100.00 | \$99,100.00 | \$180,000.00 | \$180,000.00 |
| 697.11 | INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN | U | 1.00 | \$2,500.00 | \$2,500.00 | \$1,500.00 | \$1,500.00 | \$805.00 | \$805.00 |
| 697.31 | PROJECT OPERATIONS PLAN | U | 1.00 | \$3,000.00 | \$3,000.00 | \$2,500.00 | \$2,500.00 | \$2,875.00 | \$2,875.00 |



BEDFORD

42268

| | | | | PS&E | | PS&E NORTHEAST EARTH MECHANICS INC 159 BARNSTEAD ROAD PITTSFIELD, NH 03263 | | 2841 TU | & SON INC RNER ROAD N, ME 04210 |
|----------|---|------|--------------|------------|----------------|--|----------------|------------|---------------------------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 698.13 | FIELD OFFICE TYPE C | MON | 5.00 | \$2,500.00 | \$12,500.00 | \$2,500.00 | \$12,500.00 | \$3,800.00 | \$19,000.00 |
| 699. | MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL | \$ | 5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 |
| 1010.15 | FUEL ADJUSTMENT | \$ | 10,000.00 | \$1.00 | \$10,000.00 | \$1.00 | \$10,000.00 | \$1.00 | \$10,000.00 |
| | | | Totals: | | \$1,200,580.00 | | \$1,080,096.25 | | \$1,106,738.70 |
| | | | Alt. Totals: | | | | | | |
| | | | Totals: | | \$1,200,580.00 | | \$1,080,096.25 | | \$1,106,738.70 |



BEDFORD

42268

| | | | | | PS&E | 71 R0 | RUCTION CO., INC. JUTE 111 IN, NH 03811 | 141 SMIT | R. M. INC. H BRIDGE RD NH 03264-0490 |
|----------|-------------|------|----------|------------|-------|------------|---|------------|--|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |

Items

| | | a ¥ | 4 000 00 | \$5.00 | A A AAA AA | \$ 5.00 | A O AOA AO | ¢ (0, 00 | * 40,000,000 |
|-----------|--|------------|----------|---------------|-------------------|----------------|-------------------|--------------|---------------------|
| 201.881 | INVASIVE SPECIES CONTROL TYPE I | SY | 1,800.00 | \$5.00 | \$9,000.00 | \$5.00 | \$9,000.00 | \$10.00 | \$18,000.00 |
| 202.31 | FILL ABANDONED PIPE | CY | 16.00 | \$325.00 | \$5,200.00 | \$250.00 | \$4,000.00 | \$300.00 | \$4,800.00 |
| 202.42 | REMOVAL OF EXISTING PIPE OVER 24" DIAMETER | LF | 15.00 | \$250.00 | \$3,750.00 | \$75.00 | \$1,125.00 | \$800.00 | \$12,000.00 |
| 202.7 | REMOVAL OF GUARDRAIL | LF | 150.00 | \$3.50 | \$525.00 | \$10.00 | \$1,500.00 | \$25.00 | \$3,750.00 |
| 203.11 | COMMON EXCAVATION - LRS | СҮ | 125.00 | \$35.00 | \$4,375.00 | \$15.00 | \$1,875.00 | \$30.00 | \$3,750.00 |
| 203.601 | EMBANKMENT-IN-PLACE | СҮ | 165.00 | \$16.00 | \$2,640.00 | \$5.00 | \$825.00 | \$25.00 | \$4,125.00 |
| 203.602 | EMBANKMENT-IN-PLACE (HAULING, HANDLING AND PLACEMENT) | CY | 730.00 | \$16.00 | \$11,680.00 | \$16.00 | \$11,680.00 | \$25.00 | \$18,250.00 |
| 206.1 | COMMON STRUCTURE EXCAVATION | СҮ | 210.00 | \$40.00 | \$8,400.00 | \$30.00 | \$6,300.00 | \$25.00 | \$5,250.00 |
| 206.19 | COMMON STRUCTURE EXCAVATION EXPLORATORY | СҮ | 10.00 | \$75.00 | \$750.00 | \$80.00 | \$800.00 | \$75.00 | \$750.00 |
| 209.1 | GRANULAR BACKFILL | СҮ | 75.00 | \$25.00 | \$1,875.00 | \$50.00 | \$3,750.00 | \$35.00 | \$2,625.00 |
| 214. | FINE GRADING | U | 1.00 | \$5,000.00 | \$5,000.00 | \$25,000.00 | \$25,000.00 | \$8,500.00 | \$8,500.00 |
| 503.101 | WATER DIVERSION STRUCTURE | U | 1.00 | \$35,000.00 | \$35,000.00 | \$310,000.00 | \$310,000.00 | \$90,000.00 | \$90,000.00 |
| 503.201 | COFFERDAMS | U | 1.00 | \$35,000.00 | \$35,000.00 | \$62,000.00 | \$62,000.00 | \$100,000.00 | \$100,000.00 |
| 508. | STRUCTURAL FILL | СҮ | 30.00 | \$75.00 | \$2,250.00 | \$85.00 | \$2,550.00 | \$50.00 | \$1,500.00 |
| 520.32 | GROUTING VOIDS IN BACKFILL MATERIAL | СҮ | 10.00 | \$400.00 | \$4,000.00 | \$500.00 | \$5,000.00 | \$375.00 | \$3,750.00 |
| 529.8301 | PRECAST CONCRETE SPECIAL HEADWALL | U | 1.00 | \$27,180.00 | \$27,180.00 | \$25,000.00 | \$25,000.00 | \$75,000.00 | \$75,000.00 |
| 534.3 | WATER REPELLENT (SILANE/SILOXANE) | GAL | 2.00 | \$250.00 | \$500.00 | \$80.00 | \$160.00 | \$150.00 | \$300.00 |
| 583.002 | RESET EXISTING RIPRAP | SY | 300.00 | \$45.00 | \$13,500.00 | \$14.00 | \$4,200.00 | \$40.00 | \$12,000.00 |
| 585.2 | STONE FILL, CLASS B | СҮ | 240.00 | \$75.00 | \$18,000.00 | \$70.00 | \$16,800.00 | \$50.00 | \$12,000.00 |
| 585.3401 | SIMULATED STREAMBED MATERIAL | СҮ | 10.00 | \$60.00 | \$600.00 | \$85.00 | \$850.00 | \$50.00 | \$500.00 |
| 593.411 | GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN | SY | 600.00 | \$4.00 | \$2,400.00 | \$2.25 | \$1,350.00 | \$3.00 | \$1,800.00 |
| 602.011 | FILL MATERIAL FOR ANNULAR SPACE | СҮ | 230.00 | \$300.00 | \$69,000.00 | \$330.00 | \$75,900.00 | \$340.00 | \$78,200.00 |
| 602.24590 | POLYMER COATED CORR. GALV. STEEL LINER FOR 90" PIPE | LF | 620.00 | \$950.00 | \$589,000.00 | \$420.00 | \$260,400.00 | \$750.00 | \$465,000.00 |
| 603.0001 | VIDEO INSPECTION | LF | 60.00 | \$10.00 | \$600.00 | \$5.00 | \$300.00 | \$5.00 | \$300.00 |



BEDFORD

42268

| | | | | | PS&E | 71 R | IRUCTION CO., INC. OUTE 111 ON, NH 03811 | 141 SMIT | , R. M. INC. H BRIDGE RD I, NH 03264-0490 |
|-----------|---|------|-----------|--------------|--------------|-------------|--|--------------|---|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 603.14424 | 24" POLYMER COATED CORRUGATED STEEL PIPE, 0.109" THICK | LF | 40.00 | \$100.00 | \$4,000.00 | \$75.00 | \$3,000.00 | \$180.00 | \$7,200.00 |
| 603.34112 | 12" STEEL END SECTIONS | EA | 3.00 | \$275.00 | \$825.00 | \$75.00 | \$225.00 | \$350.00 | \$1,050.00 |
| 603.34124 | 24" STEEL END SECTIONS | EA | 1.00 | \$500.00 | \$500.00 | \$625.00 | \$625.00 | \$450.00 | \$450.00 |
| 603.44212 | 12" CORR. POLYETHYLENE PIPE FOR SLOPE DRAINAGE | LF | 20.00 | \$100.00 | \$2,000.00 | \$50.00 | \$1,000.00 | \$40.00 | \$800.00 |
| 606.18001 | 31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST) | LF | 150.00 | \$34.00 | \$5,100.00 | \$40.00 | \$6,000.00 | \$40.00 | \$6,000.00 |
| 618.61 | UNIFORMED OFFICERS WITH VEHICLE | \$ | 35,000.00 | \$1.00 | \$35,000.00 | \$1.00 | \$35,000.00 | \$1.00 | \$35,000.00 |
| 618.7 | FLAGGERS | HR | 400.00 | \$37.00 | \$14,800.00 | \$36.00 | \$14,400.00 | \$37.50 | \$15,000.00 |
| 619.1 | MAINTENANCE OF TRAFFIC | U | 1.00 | \$45,000.00 | \$45,000.00 | \$28,000.00 | \$28,000.00 | \$45,000.00 | \$45,000.00 |
| 619.25 | PORTABLE CHANGEABLE MESSAGE SIGN | U | 4.00 | \$2,500.00 | \$10,000.00 | \$3,800.00 | \$15,200.00 | \$5,500.00 | \$22,000.00 |
| 622.1 | STEEL WITNESS MARKERS | EA | 3.00 | \$150.00 | \$450.00 | \$50.00 | \$150.00 | \$25.00 | \$75.00 |
| 644.22 | SHRUB/FOREST WETLAND SEED MIX | LB | 5.00 | \$100.00 | \$500.00 | \$400.00 | \$2,000.00 | \$350.00 | \$1,750.00 |
| 645.3 | EROSION STONE | TON | 60.00 | \$50.00 | \$3,000.00 | \$32.00 | \$1,920.00 | \$25.00 | \$1,500.00 |
| 645.44 | TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY) | SY | 1,325.00 | \$4.00 | \$5,300.00 | \$3.00 | \$3,975.00 | \$3.00 | \$3,975.00 |
| 645.512 | COMPOST SOCK FOR PERIMETER BERM | LF | 800.00 | \$5.00 | \$4,000.00 | \$6.00 | \$4,800.00 | \$8.00 | \$6,400.00 |
| 645.531 | SILT FENCE | LF | 1,230.00 | \$3.50 | \$4,305.00 | \$3.00 | \$3,690.00 | \$4.25 | \$5,227.50 |
| 645.7 | STORM WATER POLLUTION PREVENTION PLAN | U | 1.00 | \$4,000.00 | \$4,000.00 | \$2,114.00 | \$2,114.00 | \$6,500.00 | \$6,500.00 |
| 645.71 | MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS | HR | 96.00 | \$100.00 | \$9,600.00 | \$75.00 | \$7,200.00 | \$85.00 | \$8,160.00 |
| 646.41 | TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS | SY | 1,675.00 | \$5.00 | \$8,375.00 | \$5.00 | \$8,375.00 | \$3.50 | \$5,862.50 |
| 670.0491 | CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD | U | 1.00 | \$17,500.00 | \$17,500.00 | \$40,000.00 | \$40,000.00 | \$28,500.00 | \$28,500.00 |
| 670.0492 | CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD | U | 1.00 | \$7,500.00 | \$7,500.00 | \$20,000.00 | \$20,000.00 | \$15,500.00 | \$15,500.00 |
| 670.0493 | CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD | U | 1.00 | \$10,000.00 | \$10,000.00 | \$39,000.00 | \$39,000.00 | \$45,000.00 | \$45,000.00 |
| 670.95 | TEMPORARY SAFETY FENCE | LF | 150.00 | \$4.00 | \$600.00 | \$5.00 | \$750.00 | \$3.00 | \$450.00 |
| 692. | MOBILIZATION | U | 1.00 | \$125,000.00 | \$125,000.00 | \$90,000.00 | \$90,000.00 | \$170,000.00 | \$170,000.00 |
| 697.11 | INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN | U | 1.00 | \$2,500.00 | \$2,500.00 | \$1,700.00 | \$1,700.00 | \$1,200.00 | \$1,200.00 |
| 697.31 | PROJECT OPERATIONS PLAN | U | 1.00 | \$3,000.00 | \$3,000.00 | \$2,700.00 | \$2,700.00 | \$1,200.00 | \$1,200.00 |



BEDFORD

42268

| | | | | PS&E | | PS&E BUSBY CONSTRUCTION CO., INC. 71 ROUTE 111 ATKINSON, NH 03811 | | 141 SMIT | , R. M. INC. H BRIDGE RD , NH 03264-0490 |
|----------|---|------|--------------|----------------|----------------|---|----------------|----------------|--|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 698.13 | FIELD OFFICE TYPE C | MON | 5.00 | \$2,500.00 | \$12,500.00 | \$2,400.00 | \$12,000.00 | \$1,200.00 | \$6,000.00 |
| 699. | MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL | \$ | 5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 |
| 1010.15 | FUEL ADJUSTMENT | \$ | 10,000.00 | \$1.00 | \$10,000.00 | \$1.00 | \$10,000.00 | \$1.00 | \$10,000.00 |
| | | | Totals: | | \$1,200,580.00 | | \$1,189,189.00 | | \$1,376,950.00 |
| | | | Alt. Totals: | | | | | | |
| | | | Totals: | \$1,200,580.00 | | \$1,200,580.00 \$1,189,189.00 | | 00 \$1,376,950 | |



42268

| | - | | | A-Bid | der | PS8 | RE | |
|----------|---|------|----------|---------------|-------------------|---------------|-------------------|-------------------|
| ltem No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| Items | | | | | | | | |
| | | | 4 000 00 | * 2 52 | * 2 222 22 | \$5.00 | * 0.000.00 | (\$2,722,22) |
| 201.881 | INVASIVE SPECIES CONTROL TYPE I | SY | 1,800.00 | \$3.50 | \$6,300.00 | \$5.00 | \$9,000.00 | (\$2,700.00) |
| 202.31 | FILL ABANDONED PIPE | CY | 16.00 | \$200.00 | \$3,200.00 | \$325.00 | \$5,200.00 | (\$2,000.00) |
| 202.42 | REMOVAL OF EXISTING PIPE OVER 24" DIAMETER | LF | 15.00 | \$200.00 | \$3,000.00 | \$250.00 | \$3,750.00 | (\$750.00) |
| 202.7 | REMOVAL OF GUARDRAIL | LF | 150.00 | \$10.00 | \$1,500.00 | \$3.50 | \$525.00 | \$975.00 |
| 203.11 | COMMON EXCAVATION - LRS | CY | 125.00 | \$17.50 | \$2,187.50 | \$35.00 | \$4,375.00 | (\$2,187.50) |
| 203.601 | EMBANKMENT-IN-PLACE | CY | 165.00 | \$8.50 | \$1,402.50 | \$16.00 | \$2,640.00 | (\$1,237.50) |
| 203.602 | EMBANKMENT-IN-PLACE (HAULING, HANDLING AND PLACEMENT) | CY | 730.00 | \$12.00 | \$8,760.00 | \$16.00 | \$11,680.00 | (\$2,920.00) |
| 206.1 | COMMON STRUCTURE EXCAVATION | CY | 210.00 | \$13.00 | \$2,730.00 | \$40.00 | \$8,400.00 | (\$5,670.00) |
| 206.19 | COMMON STRUCTURE EXCAVATION EXPLORATORY | CY | 10.00 | \$60.00 | \$600.00 | \$75.00 | \$750.00 | (\$150.00) |
| 209.1 | GRANULAR BACKFILL | CY | 75.00 | \$50.00 | \$3,750.00 | \$25.00 | \$1,875.00 | \$1,875.00 |
| 214. | FINE GRADING | U | 1.00 | \$2,000.00 | \$2,000.00 | \$5,000.00 | \$5,000.00 | (\$3,000.00) |
| 503.101 | WATER DIVERSION STRUCTURE | U | 1.00 | \$200,000.00 | \$200,000.00 | \$35,000.00 | \$35,000.00 | \$165,000.00 |
| 503.201 | COFFERDAMS | U | 1.00 | \$30,000.00 | \$30,000.00 | \$35,000.00 | \$35,000.00 | (\$5,000.00) |
| 508. | STRUCTURAL FILL | CY | 30.00 | \$55.00 | \$1,650.00 | \$75.00 | \$2,250.00 | (\$600.00) |



42268

| | | | | A-Bide | der | PS8 | λΕ | |
|-----------|--|------|-----------|-------------|--------------|-------------|--------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| 520.32 | GROUTING VOIDS IN BACKFILL MATERIAL | СҮ | 10.00 | \$300.00 | \$3,000.00 | \$400.00 | \$4,000.00 | (\$1,000.00) |
| 529.8301 | PRECAST CONCRETE SPECIAL HEADWALL | U | 1.00 | \$30,000.00 | \$30,000.00 | \$27,180.00 | \$27,180.00 | \$2,820.00 |
| 534.3 | WATER REPELLENT (SILANE/SILOXANE) | GAL | 2.00 | \$150.00 | \$300.00 | \$250.00 | \$500.00 | (\$200.00) |
| 583.002 | RESET EXISTING RIPRAP | SY | 300.00 | \$10.00 | \$3,000.00 | \$45.00 | \$13,500.00 | (\$10,500.00) |
| 585.2 | STONE FILL, CLASS B | CY | 240.00 | \$36.00 | \$8,640.00 | \$75.00 | \$18,000.00 | (\$9,360.00) |
| 585.3401 | SIMULATED STREAMBED MATERIAL | CY | 10.00 | \$75.00 | \$750.00 | \$60.00 | \$600.00 | \$150.00 |
| 593.411 | GEOTEXTILE; PERM CONTROL CL.1, NON- WOVEN | SY | 600.00 | \$2.50 | \$1,500.00 | \$4.00 | \$2,400.00 | (\$900.00) |
| 602.011 | FILL MATERIAL FOR ANNULAR SPACE | CY | 230.00 | \$225.00 | \$51,750.00 | \$300.00 | \$69,000.00 | (\$17,250.00) |
| 602.24590 | POLYMER COATED CORR. GALV. STEEL LINER FOR 90" PIPE | LF | 620.00 | \$552.00 | \$342,240.00 | \$950.00 | \$589,000.00 | (\$246,760.00) |
| 603.0001 | VIDEO INSPECTION | LF | 60.00 | \$20.00 | \$1,200.00 | \$10.00 | \$600.00 | \$600.00 |
| 603.14424 | 24" POLYMER COATED CORRUGATED STEEL PIPE, 0.109" THICK | LF | 40.00 | \$100.00 | \$4,000.00 | \$100.00 | \$4,000.00 | \$0.00 |
| 603.34112 | 12" STEEL END SECTIONS | EA | 3.00 | \$85.00 | \$255.00 | \$275.00 | \$825.00 | (\$570.00) |
| 603.34124 | 24" STEEL END SECTIONS | EA | 1.00 | \$230.00 | \$230.00 | \$500.00 | \$500.00 | (\$270.00) |
| 603.44212 | 12" CORR. POLYETHYLENE PIPE FOR SLOPE DRAINAGE | LF | 20.00 | \$60.00 | \$1,200.00 | \$100.00 | \$2,000.00 | (\$800.00) |
| 606.18001 | 31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST) | LF | 150.00 | \$55.00 | \$8,250.00 | \$34.00 | \$5,100.00 | \$3,150.00 |
| 618.61 | UNIFORMED OFFICERS WITH VEHICLE | \$ | 35,000.00 | \$1.00 | \$35,000.00 | \$1.00 | \$35,000.00 | \$0.00 |



42268

| | | | | A-Bide | der | PS8 | ξE | |
|----------|---|------|----------|-------------|-------------|-------------|-------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| 618.7 | FLAGGERS | HR | 400.00 | \$35.00 | \$14,000.00 | \$37.00 | \$14,800.00 | (\$800.00) |
| 619.1 | MAINTENANCE OF TRAFFIC | U | 1.00 | \$25,000.00 | \$25,000.00 | \$45,000.00 | \$45,000.00 | (\$20,000.00) |
| 619.25 | PORTABLE CHANGEABLE MESSAGE SIGN | U | 4.00 | \$4,000.00 | \$16,000.00 | \$2,500.00 | \$10,000.00 | \$6,000.00 |
| 622.1 | STEEL WITNESS MARKERS | EA | 3.00 | \$50.00 | \$150.00 | \$150.00 | \$450.00 | (\$300.00) |
| 644.22 | SHRUB/FOREST WETLAND SEED MIX | LB | 5.00 | \$300.00 | \$1,500.00 | \$100.00 | \$500.00 | \$1,000.00 |
| 645.3 | EROSION STONE | TON | 60.00 | \$25.00 | \$1,500.00 | \$50.00 | \$3,000.00 | (\$1,500.00) |
| 645.44 | TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY) | SY | 1,325.00 | \$2.50 | \$3,312.50 | \$4.00 | \$5,300.00 | (\$1,987.50) |
| 645.512 | COMPOST SOCK FOR PERIMETER BERM | LF | 800.00 | \$4.75 | \$3,800.00 | \$5.00 | \$4,000.00 | (\$200.00) |
| 645.531 | SILT FENCE | LF | 1,230.00 | \$2.50 | \$3,075.00 | \$3.50 | \$4,305.00 | (\$1,230.00) |
| 645.7 | STORM WATER POLLUTION PREVENTION PLAN | U | 1.00 | \$1,800.00 | \$1,800.00 | \$4,000.00 | \$4,000.00 | (\$2,200.00) |
| 645.71 | MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS | HR | 96.00 | \$70.00 | \$6,720.00 | \$100.00 | \$9,600.00 | (\$2,880.00) |
| 646.41 | TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS | SY | 1,675.00 | \$5.25 | \$8,793.75 | \$5.00 | \$8,375.00 | \$418.75 |
| 670.0491 | CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD | U | 1.00 | \$40,000.00 | \$40,000.00 | \$17,500.00 | \$17,500.00 | \$22,500.00 |
| 670.0492 | CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD | U | 1.00 | \$30,000.00 | \$30,000.00 | \$7,500.00 | \$7,500.00 | \$22,500.00 |
| 670.0493 | CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD | U | 1.00 | \$35,000.00 | \$35,000.00 | \$10,000.00 | \$10,000.00 | \$25,000.00 |



42268

X-A004(797)

| | | | | A-Bidder | | PS&E | | |
|----------|---|------|-----------|-------------|-------------|--------------|--------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| 670.95 | TEMPORARY SAFETY FENCE | LF | 150.00 | \$3.00 | \$450.00 | \$4.00 | \$600.00 | (\$150.00) |
| 692. | MOBILIZATION | U | 1.00 | \$99,100.00 | \$99,100.00 | \$125,000.00 | \$125,000.00 | (\$25,900.00) |
| 697.11 | INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN | U | 1.00 | \$1,500.00 | \$1,500.00 | \$2,500.00 | \$2,500.00 | (\$1,000.00) |
| 697.31 | PROJECT OPERATIONS PLAN | U | 1.00 | \$2,500.00 | \$2,500.00 | \$3,000.00 | \$3,000.00 | (\$500.00) |
| 698.13 | FIELD OFFICE TYPE C | MON | 5.00 | \$2,500.00 | \$12,500.00 | \$2,500.00 | \$12,500.00 | \$0.00 |
| 699. | MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL | \$ | 5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | \$0.00 |
| 1010.15 | FUEL ADJUSTMENT | \$ | 10,000.00 | \$1.00 | \$10,000.00 | \$1.00 | \$10,000.00 | \$0.00 |

\$1,080,096.25

Total:

Tuesday, October 27, 2020

(\$120,483.75)

\$1,200,580.00